= AH O
N = 0 &8 AF S & Al A
20109 = 204 XIS-AILSSEESIH JA
S X4
M oMU LHFTHX LA™Y (B EL XN SEME/=XH)
Sl oL SAS RN +-SSEE(XAIESEIAH) (&2 &
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
K| 2= TH 22,991,000 26,100,000 A3,109,000
= 9,861,000
o= 13,130,000
SIM I LUFHIGZHH(ZEL XN AN /=) 22,991,000 26,100,000 A3,109,000
= 9,861,000
== 13, 130,000
oY SAS XN +SSEHB(XSAIEELFAH) 6,957,000 15,220,000 A8,263,000
MAEQIGHE A =& 1,928,780 1,806,800 121,980
401 Al&HI L2004 1,928,780 1,806,800 121,980
01 Al&H| 1,920,000 1,800,000 120,000
D=2 X AHE I 1,320,000
OstaI|I2HE = 1,320,000
OE X0l 600,000
O/l BEAANSEX B A 600,000
03 AEE20HI 8,780 6,800 1,980
ot 2H &2+ 5,000
OAlE 20| 2,500
Ouxlgzsinaz 2,500
Lot HY EXN B & 3,780
SIEAEFAX 222 3,500,000 11,274,939 NT,774,939
308 NAXHHMSOIH 1,500,000 7,274,939 N5, 774,939
02 A&1LE3 1,500,000 7,274,939 A5, 774,939
OotdAE2E 2022 3,000,000,0002 *50% 1,500,000
403 XXM SK=20lH 2,000,000 4,000,000 2,000,000
01 MXIESHMAEEX 2,000,000 4,000,000 2,000,000
(JLEHSI A E AL 2,000,000
SIEAE S8 &2 1,434,452 1,994,452 560,000
308 XX HHSOIA 434,452 434,452 0
01 AXSMBAEES 434,452 434,452 0
ot & A & 21 2 201 21H| (762)
1,448,172,0002 *30% 434 452
403 XX SHHMEN=0IH 1,000,000 1,560,000 560,000
01 AIXISHHMAZ2E R 1,000,000 1,560,000 A 560,000
DI Y -2 M ALY 1,000,000
ot A=A 93,768 143,809 50,041
201 Lt AH| 14,000 17,500 /3,500
01 AFR22|H] 14,000 17,500 23,500
OgetgH| 12,000
Ootd&A2IHUELSNERAUS 12,000
R Ea=, 2,000




A X2 TH
HE: otz LHFHIAFHI(
ool UL SBSSAE (el & 2
SA - =B .o (3) Aro e Hlm= 2
Osota &&= 2,000
202 Oidl 17,000 18,000 A 1,000
01 =LHA b 17,000 18,000 21,000
OX==AMBEE S HL S F=E 0 17,000
203 HRF&H| 5,000 5,000 0
03 AEFXHRFAY| 5,000 5,000 0
OX==AMHESSHSRF=XN 5,000
308 XX EH M SOl 14,000 14,000 0
01 AXNHMBLAEXS 14,000 14,000 0
(oI BEAMNRENELUH D ESHSUS =2 14,000
801 ollgldl 43,768 89,309 245,541
01 ollblbl 43,768 89,309 A45,541
CJol gl gl 43,768
HEHRAFTUMEHAMNS (X =AILSSESIH) 16,034,000 10,880,000 5,154,000
= 9,861,000
i = 6,173,000
JIEE=HAEEHY ALY 8,031,000 7,877,000 154,000
= 1,861,000
= 6,170,000
403 XXM SA201H 8,031,000 7,877,000 154,000
= 1,861,000
& 6,170,000
01 MXEMA=2E =R 8,031,000 7,877,000 154,000
D= F=HX S EHU AL 8,031,000
= 1,861,000
= 6,170,000
ARH(REH)FHI ST AL 1,500,000 3,000,000 A 1,500,000
= 1,500,000
403 XXM S0 1,500,000 3,000,000 A 1,500,000
= 1,500,000
01 MXESMA=2E = 1,500,000 3,000,000 A 1,500,000
O=RadaAd 1,500,000
= 1,500,000
ARH(EGH)FHASEE ALY 1,500,000 0 1,500,000
= 1,500,000
403 KX EMSK=01H 1,500,000 0 1,500,000
= 1,500,000
01 AXEMA=E = 1,500,000 0 1,500,000
Odedgad 1,500,000
= 1,500,000
AR (s=Sd)=HI ST A 5,000,000 0 5,000,000
= 5,000,000




A Xl==ZTHL
= al
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HE: GEBRIYYTHN AT (FELN ML /S
Sl BAZEBIR|FOIME O AN (X SA S SESIA) (s &)
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
403 XX SIS KHZ 0 & 5,000,000 0 5,000,000
= 5,000,000
01 REXISHHIXHZ 2 X 5,000,000 0 5,000,000
RETE 5,000,000
= 5,000,000
HEH A AL L RER 3,000 3,000 0
202 01t 3,000 3,000 0
01 =Uoi | 3,000 3,000 0
235 8 X & F Ul A X 01 bl 3,000




